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given above and put your signature,

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.
After opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and
printing of all the 150 questions is proper. If any
discrepancy is found, inform the invigilator within
15 minutes and get the correct booklet.

While answering the question from the Question Booklet, for
each question choose the correct/most appropriate option
out of four options given, as answer and darken the circle
provided against that option in the OMR Answer-Sheet,
bearing the same serial number of the question. Darken the
circle only with Black or Blue ball point pen.

Darken the circle of correctanswer properly otherwise answers
willnot be evaluated. The candidate will be fully responsible
for it.

There are 150 objective type questions in this question
booklet. 1 mark is allotted for each correct answer and
1/4 mark will be deducted for each wrong answer.

Do not write anything anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified
places otherwise OMR sheet will not be evaluated.

After completion of the examination, only OMR
Answer-Sheet and cover page of question booklet is to be
handed over to the invigilator. Carbon copy of the
Answer-Sheet and Question Booklet may be taken away by
the examinee.

This Question Paper consists of Parts namely :

Part - (1) (1) GeneralStudies 1-40
(2) General Knowledge of State

Part - (2) General Knowledge of Computer 41-70

Part - (3) General Mental Aptitude 71-90

Part - (4) General Mathematics 91-110

Part - (5) General Hindi- 111-130

Part - (6), General English 131-150

In case of any ambiguity in Hindi version the English
version shall be considered authentic.
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PART - (1)
(1) GENERAL STUDIES

(2) GENERAL KNOWLEDGE OF

1.

STATE

Which is the major cause of high price

risé in petrol and diesel in India ?

(A) High price of crude oil in global
market.

(B) Depreciation of Rupee in USA
dollar term.

(C) TImposing of high duty by Central
and State Governments.

(D) Restriction of USA on production

of Crude Oil in Iran.

Who of the following Saint of South India
was the founder of *Vishishtadvaita’
philosophy ? »

(A) Shankaracharya

(B) Madhavacharya

(C) Ramanujacharya

(D) Nimbarkacharya

The female - male ratio in this state is :
(A) 990 : 1000

(B) 1000 : 990

(C) 991 : 1000

(D) None of above

During, the tenure of which of the British
Superintendent appointed in this state the
revolt of Sawant Bharati occurred ?

(A) Major Agnew

(B) Mr. Sandis

(C) Mr. Wilkinson

(D) Mr. Crawford

1T - (1)
(1) BT THFT
(2) TS hT WA A

e 3 g Td St 1w H i gfs
T T 0T hI H €7
(A) Afvaren ISR § S A0 Hl Sl BT |

(B) SR R % w0 H T % qed #
frgee |

©) 321 U T T 6 g Sl e
M

(D) 7§ S ae o Ieed R SR
Cagsi RERIUE

ﬁmw%ﬁm@aﬁﬁaﬁﬂ@ﬁa
“Fafireda’ <ulT % HrTE 92

= T B Tf - e W S E

(A) 990 : 1000

(B) 1000 : 990

(C) 991 : 1000

(D) sode # i off T

=0 v 1 Py Trefafad # © foa ffea
srefterss % wEIE § HEd a1 R
ganan?

(A) TSR T

() fa. Hfew
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Stephen Constantine has been

associated as coach for which of the

following Indian team ?
(A) Hockey

(B) Football

(C) Wrestling

(D) None of above

Which is the major cause of High Current

A/c Deficit in India during first quarter

2018 - 19 ?

(A) High Trade Deficit

(B) Deficit in Services Trade

(C) Decline in Private Transfer Receipts
mainly remmitances

(D) All the above

Who of the following was the head of the
military department in the administration
of the Delhi Sultanate ?

(A) Ariz-e-mumalik
(B) Barid-e-mumalik
(C) Diwan-e-Insha

(D) Diwan-e-wazarat

What Goal Target of Maternal Mortality
Ratio is fixed for India to achieve by 2030
Under Sustainable Development Goals ?

5,

T wrEe<N fo/a IR 39 & @d
forers €2

(A) Tl
(B) esid
(C) wfam

(D) S # g off T8

a4 2018 - 19 o YA fAE H 9RA & =e],
@Il | e 1 W HR ki G R ?

(A) = FATIR-HRT

(B) W&t % SR H =

() fast ewararor wifeqai faviosy
(Rfre=aw) ¥ firEe

(D) I Gl

fooel wodTd o wereA | 9= fasqm @1 sty
Treforfiad o 9 o a1?

(A)  enits-u-mmfer
(B) Rig-u-ymferh
(C) <rEm-u-sm

(D) SremH-T-osId

IR o fore =niia T @e < sAwia 2030
T A G STUE | Wit 1 s @sd
Frerifea foman e &2

(A) 130 (A) 130
(B) 125 (B) 125
() 70 (C) 70
(D) 66 (D) 66
SPACE FOR ROUGH WORK / % @t o o Smie
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10.

11.

12,

Which of the following is the meaning of

the proverb ‘Karni dikhe Marni ke ber” in

the dialect of this state ?

(A) Bad deeds are remembered at the
time of death.

(B) Good deeds are remembered at the
time of death.

(C) Relatives are remembered at the
time of death.

(D) Gods are remembered at the time
of death.

In which of the following Ages the Indus
Valley Civilization developed ?

(A) Paleolithic Age

(B) Mesolithic Age

(C) Neolithic Age

(D) Chalcolithic Age

Which of the following forest Satyagraha
took place under the leadership of
Shankar Rao Ganodwale during the Civil
Disobedience Movement in this state ?
(A) Gatta-Silli

(B) Rudri Navagaon

(C) Tamora

(D) Tanwat

Which of the following commission was
known as the Royal Commission on
Labour set up in 1929 ?

E

Lyall Commission

Macdonald Commission

C

Sadler Commission

T3

Whitley Commission

10.

11.

12.

mmﬁsﬁﬁﬁm‘aﬁrﬁ@nﬁr%
' &1 Prefatea § | o o1 §72

(A) T % ud G FE kTR R
Sarg |

(B) T % T 3Te il bl TR foRl
e |

(C) 7Y o w Frdarl o1 TR feher =it
4

(D) T3 % WA SeIeH okt TR Al S

i

frforfad B 9 forg g # firy w6 @
1 ToehT g1 7

(A) e

(B) WEAUTSIOT T

(C) TEdTerT

(D) dmgH

=0 T § Wi e STEe & A
iea THeE % g # Frafated § |
= T ST HeAwg g7 7

A)  TrgrEeE

B) ®EI-TaNTd
C) HA

D) dMae

N S N
-~

1929 i Tfsa Frefafad & § H@ =
gfgst & fag 9@ sEn (Royal
Commission on Labour) & A B ST S
or?

(A) @ S

(B) HaETs AEm

(C) HSTR AER

(D) fegeedt swmEm

SPACE FOR ROUGH WORK / T &t % fordl Sie
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13.

14.

15.

16.

Which of the following Revolutionary 13.

Organization was founded by Sachin

Sanyal and Jogesh Chandra Chatterji in
1924 ?

(A)
(B)
©
(D)

Which of the following culture was 14.

Anushilan Samiti
Abhinav Bharat
Hindustan Republican Association

Indian Independence League

developed during the period of Delhi
Sultanate ?

(A)

(B)

(©)
(D)

To which of the following ancient dynasty 15.

Indo-Afghan Culture
Indo-Persian Culture
Indo-Mughal Culture
Indo-Turkish Culture

of this state King Prasannamatra

belonged ?

(A)
(B)
©)
(D)

Rajarshitulyakula
Sharabhpuriya
Pandu

Nala

‘Who of the following was the leader of  16.

the Kuka Movement in Punjab ?

(A)
(B)
©)
(D)

Jawahar Singh
Balak Singh
Ram Singh
Hari Singh

1924 § gfer g 3R MY =g S A
Taefafaa o 9 s e 9me wnfud
fomar an?

(A) STRitem wfafa

(B) &fyTd i

(€) fogmm Ruafser srefaaeH
(D) gfeam sfeusy o

frifera o O fooelt dodqa & SRA g
Heepfd =1 Torehry gam o ?

(A)  FSI-3THTH G&hid
(B) Zei-ufifa dewfa
(C) geI-qer gepfa
(D) ESi-gel Wepfa

3 W % Frafafaa fea o= Tsew 9
ST TE=TH1 Heiled o1 ?

(A) TSffgeIFa
(B) Wyl
(€) Ty

(D) &

TS H g R S A FeAfare
T QDT a1?

(A) SET g

(B) weies fHg

(C) Tmfag

(D) ®lfag

Set-~- A
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17. Which of the following is correct about  17.

Amitav Ghosh ?

(i) He got the 54" Jnanpith Award

(i) He is the first author in English to
get Jnanpith Award 2018

(iiiy His celebrated work is “The
Hungry Tide”

=
> <
R

He currently lives in Kolkata
(i), (ii) and (iii)
B) (ii), (iii) and (iv)
C) (iii), (iv) and (i)
)

D) None of above

18. Which of the following is correct ? 18.

(i) Languages are given in the ninth
schedule of constitution of India

(i) The emoluments, allowances,
privileges etc of supreme and high
court judges are given in second
schedule of constitution of India

(iti) Fundamental rights are given in
Part IV of constitution of India

(iv) Indian Constitution has 448
Articles

(A) (i), (i) and (iii)

(B) (i), (iii) and (iv)

(C) (iii), (iv) and (i)

(D) None of above

19. What is the rank of India in “Global 19.

Gender Gap Index 2018” ?
(A) 106
B) 107
108

None of above

siftara s % oo § o TE B2

(i) SR 54 e TR g fwA

(ii) IS TEERR 2018 UG L acd
Heop SIS e B |

(i) ST wfeg A E e R

(iv) & @rsfi hrerRma H T&d €

(A) (i), (ii) 3T (iii)

(B) (i), (iii) 3R (iv)

(C) (i), (iv) SR (i)

(D) T H1g ot T

e EEl 872

() sl o e e o Hie g
@ T

(id) ot U1 Se el & SIS oh,
e, v qen fardi sl A S
¥ gudt g o e T e

(i) wifoes sifusid 1 aRAE iadE &
I IV H T T
(iv) RA % Gfger i 448 ST €

(A) (i), (ii) 3T (iii)
(B) (ii), (iii) 3R (iv)
(C) (i), (iv) 3R (i)
(D) ST H g ol

)

“refrae Set T geesd 2018 TR Wl

M

(A) 106
(B) 107
(C) 108
(D) SulieRt H rg ot el

SPACE FOR ROUGH WORK / T & o forar <
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20. Which of the following is not a tribe of 20. T8 W HH-UN 39 T H1 Afcardt T €2
this state ?
(A) Halbi (A) el
(B) Halba (B) @csll
(C) Kamar (C) =uR
(D) Santhal (D) geret
21. Who of the following was the author of 21. ‘uEed Wi’ | e e’ & ows
‘Mitakshara’, a commentary on freafafea § 9 F a1?
“Yagyavalka Smriti” ?
(A) Vijnaneshwar (A) fagmzeR
(B) Someshwar (B) HHTeR
(©) Rajshekhar (C) TSRIE
(D) Ashwaghosha (D) STy
22.  Which of the following is correct about 22. 39T % foa o wn | §2
this state ?
(i) It has about 35% of reserves of tin (i) ST H, W H35% EH 3TT&H Tl
ore in the country. ST
(ii) This state is a leading producer of (ii) € o, HIIel ad S e |
Coal and Dolomite. T 3§
(iii) This state is a leading producer of (iii) T8 U9, TR a1 hid FHesh Scared
Tussar and Kosa silk. T el o 7
(iv) This state is the ninth largest state (iv) ¥8TF, YR <l Al TeY g T © 1
in India.
(A) (i), (ii) and (iii) only (A) HaS (i), (i) 3T (i)
(B) (i), (iii) and (iv) only (B) had (ii), (iii) iR (iv)
(C) (iii), (iv) and (i) only (C) &aa (iii), (iv) TR (i)
(D) All of above (D) SRt |l
SPACE FOR ROUGH WORK / T% &1 o ol sTg
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23.

24.

25.

Through which agencies, development
and maintainance of national highway is

done ?

i) NHAI
i) BRO

(i) PWD

(A) (), (@)
®) () (i)
©  Gi), (i)
(D) All of these

During the period of which of Mughal
emperor European influence was more
manifested on painting ?

(A) Humayun

(B) Akbar

(C) Jahangir

(D) Shahjahan

Match the following :

(a) Bhil (i)  Ranchi plateau

(b) Kharia (i)  Nilgiri hill

(c) Toda (i) Mayurbhanj hill

(d) Oraon (iv) Aaravali,
Vindhyachal,
Satpura

@ ® ( @
(A) @) @) O @
( (1)

B) (v) () @
iv) (i) @) ()
(D) (@) Gv) @) @

i

23.

24.

25.

T e s faee Td a5
S 3 ieT | e ¢ 7

() NHAI
@) BRO
(iiiy PWD
(A) (i), (i)
(B) (i), (i)
(©) (i), (i)
(D) SwEa aft

Srfefed o A fRg e SRR F W §
fepsraren TR FRITUeA wTd Sifees afterferd g
ar?

(A) T

(B) The

(C) SRFR

(D) eI

EEHECELICRIER

(a) ofa (i) T TR

(b) @ () AR w T

(0 e (ifi) FPRS T TR

(d) S (iv) oTaeed, faeamas,
Hagel
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26. Who of the following was the music 26. Wﬂmaﬁsh?ﬁﬁﬁﬁia%ﬁ—mfﬁ ED
composer of tele-film ‘Punni ke Chanda’ =1’ % Hifta e feAfated § 9 %H 92
produced in the dialect of this state ?

(A) Ramchandra Deshmukh (A) U= Y
(B) Laxman Masturia (B) I&HUT HEIRAT
(€©) Rawan Yadav (G IR CIECICE
(D) Khuman Sao (D) @HH 9=

27. Which of the following Mahajanapada 27. B3l § <Al IR SH YH Gk IR ARA H
was the most powerful and prosperous frefafea & | w9 TenHIe gaifs
in north India from the 6t to 4t centuries viferremelt wa T o ?

B.C.?

(A) Avanti (A) raw
(B) Magadh (B #HI¥
(C) Kashi (C) el
(D) Gandhara (D) YR

28. What is Kaal Baisakhi (Narwester) ? 28. A S (ARGERI) F & ?

(A) Warm Wind (Loo) (A) T EEE ()

(B) Doldrums (B) ErergH

(C) Westerly Depressions (C) ufva =ramda o
(D) Thunder Storms of Summer Season (D) W™ kg & TFFT

29. Dandkaranya plan has been executed : 29. TUSHRUY AN HA-Td & T :

(A) To settle the displaced people of (A) Yot wiferear o fereenfudi ot sE
Eastern Pakistan. fo

(B) To rehabitate people of Western (B) ufy=dt mifsheam & graifaal & fera |
Pakistan.

(C) For development of forest area. (C) o7 &5 % o & o)

(D) To decrease the migration. (D) YA &H A foawl

30. Which of the following traditional custom 30. 39 To9 o Ufaeies ‘o) <Ry’ & SR
is not observed during the historic frfafeaa o 9 I |1 R fafy-faerm
‘Dussehra’ of Bastar in this state ? & T S ?

(A) Kachhan - gadi (A) HBI-TRL
(B) Jogi-bidai (B) wirfi-fogr
(C) Goncha (C) e
(D) Madai (D) weg
SPACE FOR ROUGH WORK / T% &1 o fordl s
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31.

32.

33.

34.

By which of the following name the

marriage is called in the Korwa tribe of
this state in which a woman forcibly
enters the house of a man ?

(A) Dhuku Marriage

(B) Paithul Marriage

(C) Pota Marriage

(D) Ar-uto Marriage

Who of the following was the author of
the novel ‘Chanda Amrit Barsais” written
in the dialect of this state ?

(A) Shiv Shankar Shukla

(B) Krishna Kumar Sharma

(C) Lakhan Lal Gupta

(D) Keyur Bhushan

Which of the following is true about

Sitarama Lift Irrigation Project ?

(i) It is in Telangana.

i) It will divert the water of
Godavari river.

(iii) It will irrigate three districts.

(A) (i) and (ii) only

(B) (i) and (iii) only

(C) (iii) and (i) only

(D) All of above

What percentage of GDP is recorded as
Current Account Deficit in first quarter
of 2018 - 19 in India ?

(A) 2.1 per cent

(B) 2.4 per cent

(C) 2.5 per cent

(D) 1.9 per cent

31.

32.

33.

34.

o9 T59 F HRE St 39 foare w6
forefeafea B @ forg - & Haife feran Stran
2 fras ek wigen foRe 7w % o H SeeEd!
R A I

(A) TF foeme

(B) Ugd foere

(C) T foam

(D) eR-3a1 foams

0 T ) aiel | foren T SuEE
arfia seaRd’ ¥ orae Fetafad 8 9
7

(A) e yEd

(B) T HHR ¥

(C) =& e e

(D) S [T

Freifwa § Harm foave SERH Wese &
qR W A ?

() TEIATHH R

(i) e el TR F Io w1 fom B
ofafia s

1 i foredi o foamg sm|
Faat (i) AR (ii)

B) had (i) SR (iii)

C) Haa (iii) 3R (i)

D) W a4t

o~
——
:}> S
—
~— e

—~ N N N

a9 2018 - 19 % werg el # 9Rd & Hh
] IeaTE o fere e =iTe] T <k He
¥ wa H e &1 w82

(A) 2.1 Hfaem

(B) 2.4 Wfqerd

(C) 2.5 wiqer

(D) 1.9 gfaera

SPACE FOR ROUGH WORK / T% @& < fot&l e
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35. What is India’s share in Global Exports 35. @4 2016 H WA & HM Sl & dfeaesw
of Agricultural Products in the year frata # =0 femm 272
2016 ?
(A) 01 per cent (A) 01 gfaema
(B) 2.1 per cent (B) 2.1 yfawd
(C) 2.2 per cent (C) 2.2 gfav@
(D) 2.5 per cent | (D) 2.5 gfavm@
36. Which of the following statement is  36. oi<®h & e # B W gEa T @ 2
incorrect for Karnataka ?
(A) Karnataka stands first in India for (A) HEE IE B wAies 9Rd | yUH
silk textile industry. T @@ E |
(B) Karnataka is the second largest (B) = SeUTeH H FAleH NG 1 THT
sugar producing state of India. ESREEES
(C) Magnetite is found here. <) T YIRS THR T Ale-3T%n Tl
ST |
(D) Manglore is chief port of (D) AR ek 1 TE FSTE 2 |
Karnataka.
37. Which is the first country in the world 37. Telfen JfeRTak drer wiie ol fava o1 ggd
to have a floating nuclear power plant ? <9 HEA-¥ 8 ?
(A) China (A) =M
(B) USA (B) JWHT,
(C) Russia (C) w9
(D) None of above (D) Suleri T &g off &l
38. What rate of growth in GDP is estimated 38. o 2018 - 19 % ¥ faEl # W & "eha
in India in first quarter of 2018 - 19 ? Y] STE W RN i S ST bl T g7
(A) 7.5 per cent (A) 7.5 gfawd
(B) 7.7 per cent (B) 7.7 fawd
(C) 8.2 per cent (C) 8.2 gfawd
(D) 8.3 per cent (D) 8.3 yfaemd
SPACE FOR ROUGH WORK / 1% %14 & fodl <
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39. Match the following : 39.
(@) Bhabar region (i)  Deposition
of Boulder
and Silt

(b) Tarai region . (i) Made from
particles of

alluvial

(c) Khadar region (iiij Made from
new

alluvial

(d) Bangar region (iv) Made from
old alluvial

@ (b)) (9 (@
(A) @) @) @) @)
(B) (v) (i) (@) @
©) @) @) @) @
(D) @) @v) @ @)

40. Which of the following tribe of this state 40.

mainly relies upon agriculture and selling

articles made of cane ?
(A) Gond

(B) Dhurva

(C} Maria

(D) Muria

WWHBFI@:

(@) R TR @) ORI g
TReR, ST T

Uil ATt
Selle 9 &

() QR Gl (iii) Tl STAIg &

(d) SR YW (iv) U Sg 8

(a) @ @ @ @)
(B) (v) (D) () ()
© @) (i) @) 0
(D) @) (v) @ (@)

T T o Frefafea § @ SAE s
HEAd: gﬁslq?ﬁwk%a?n% (cane) - fafHa
aeqall w1 fasa el 672

(A) Tie
(B) e
() e
(D) Tfem

SPACE FOR ROUGH WORK / T% @1 & fo&l s
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41.

42,

43.

44.

PART - (2)

GENERAL KNOWLEDGE OF

COMPUTER

Which function in Excel tells how many

numeric entries are there ?
(A) NUM

(B) COUNT

(€©) SUM

(D) CHKNUM

Viruses which executes when computer

starts is :
(A)
(B)
(©)
(D)

Macro
File infector
Boot sector

Salami Shaving

Example of Computer Antivirus program

includes :
(A)
(B)
©
(D)

Norton

Mc-Afee

Dr. Soloman toolkit
All of these

__are used in denial of service

attacks typically against targeted
websites.

(A)
(B)
(©)
(D)

Worm
Zombie
Virus

Trojan horse

41.

42,

43.

44,

UTT - (2)
HIRTET hT HTHI

Excelﬁaﬁquw%ﬁﬁmﬁwﬁsﬁ
e e?

(A)y T

(B)

(€ wH

(

D) ®.UEEH

B G T UASIHE BT § S HET
TR BT & 7

(A) H=

(B) THEW TR

(C) e TR

(D) Wl Efem

I YR 1 ISR 8

g duuEe &% favg ®
ferret afdg =1ee. 3w fa s ¥

(A) @ (Worm)

(B) Gﬁﬁl (Zombie)

(C) ©IrEE (Virus)

(D) <isMA 2" (Trojan horse)

SPACE FOR ROUGH WORK / 1% #td o fot&l siE

Set- A
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45.

46.

47.

48.

Audio Compression can be used for : 45.

(A)
(B)
©
(D)

Use of Computer in Education started  46.

Which one of the following is the 47,

Speech or Music
Voice and Data
Picture and Colors

Video and Voice

1960s
1970s
1980s
1990s

characteristic of a multimedia system ?

(4)
(B)
©)

(D)

What was the HTML editor that was part ~ 48.

High storage
High data rates
Both high storage and high data

rates

None of the above

of Microsoft Office Until 2003 ?

(4)
(B)
©)
(D)

Web page
Explorer
Front page

Dream Weaver

Audio Compression fofder fog 3wl T
T 8 ?

(A)
(B) Voice 3R Data
(C) Picture 3R Colors
(D) Video 31R Voice

Speech AT Music

PR T ITART e H YRy ga

(A) 1960s
(B) 1970s
(C) 1980s
(

D) 1990s

71 # € %1 91 multimedia system 1 T
fordoan €2

(A)
(B) High data rates

(C) WKt I (both high storage and
high data rates)

SR H QA Tl

High storage

(D)

2003 4 St Microsoft Office T Teh fe&an
o1, 39hT HTML editor 3T &1?

(A) o

(B) THHEIX
(C) e U
(D) W for

SPACE FOR ROUGH WORK / T% &4 & & sig

9102/ID-BH/RCE-M 15
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49. In computer, benefit of CAD may be 49, S # CAD &1 3uam fras &9 o
summed up as : Afirerer Teran <11 Thal 8 7
(A) accuracy (A) TR
(B) repeatability (B) fodresierdt
(C) speed and flexibility of production (C) wie s R ST TSR
(D) all of these (D) SUeRt |t
50. Which of the following is a type of Image 50. 399 ¥ %M Image Scanner FhI &l 87
Scanner ?
(A) Flat - held (A) TR - BT
(B) Hand - led (B) ¥s -8
(C) Flat - bed (C) W -8
(D) Compact (D) i
51. Set of instructions given to computer is 51. hFg 1 instructions set T T T
' termed as : term H g SIS :
(A) Program (A) Program (HIUM™)
(B) Software (B) HTHRER
(C) Application (C) ST
(D) Command (D) A
52. A Video consists of a sequence of : 52. TW&h fafemd  IHA ¥ odE
(A) Frames (A) T
(B) Signals (B) Taicw
(C) Packets (C) TeheH
(D) Slots (D) wilcH
53. Laser Printer is a type of : 53. oreR THe o1 Tk TR @ :
(A) Impact printing (A) e f5fdn
(B) Non-impact printing (B) - ffem
(C) Both of the above (@) EENESAE]
(D) None of the above (D) U H § HE Tl
SPACE FOR ROUGH WORK / T & o for&t <rig
Set - A 16 9102/1D-BH/RCE-M



54. Which of the following is a correct format 54, T § | &M 9 E-mail address &l wE

of E-mail address ? e B2
(A) name@website@info (A) name@website@info

(B) name@website.info (B) name@website.info

(C) www.nameofwebsite.com (C) www.nameofwebsite.com

(D) name.website.com (D) name.website.com

55. Ink-jet printers or band printers are  55. TS fiet = ¥ fiw = frm w9 |

classified as : . Tficha fohdl ST 772
(A) Character printer (A) FER X
(B) Ink printers (B) T X
(C) Line printers (C) et X
(D) Of band printer (D) e X
56. MS DOS developed was in : 56. wH Uy o frw oy foenfad gen?
(A) 1991 (A) 1991
(B) 1984 (B) 1984
(C) 1971 (C) 1971
(D) 1961 (D) 1961

57. Per minute printing speed of Large Laser 57. o el Y yfa fime fifdn nfa @

Printer is :

(A) 150 pages (A) 150 O
(B) 200 pages (B) 200 U
(C) 250 pages (C) 250 U
(D) 300 pages (D) 300 T

SPACE FOR ROUGH WORK / T hTd & ol STe

9102/ ID-BH/RCE-M 17 Set - A



58.

59.

60.

61.

Example of Magnetic storage device  58.

includes :

(A)
(B)
(©)
(D)

Which of the following is not a point-and 59.

flash memory drive
CD-ROM drive
hard disk drive

optical drive

~-draw device ?

(A)
(B)
(©)
(D)

Which of the following is not a type of 60.

Key pad
Track ball
Touch screen

Mouse

optical disk ?

(A)
(B)
(©)
(D)

How to Paste Text in a presentation in 61.

DVD
CD
WORM

Winchester

Power Point ?

(A)
(B)
(©)
(D)

Ctrl+Y
Ctrl+2Z
Ctrl+ A
Ctrl+V

Magnetic Storage device I IGE & :

(A) WV THRI-gRE
(B) ISl Im g
(C) =€ fewh grd
(D) erifesrar gra

171 o 9 A 51 T g iR ST 3ueor
T E?
(A) =1 Te

DVD
(B) CD
(C) WORM

Winchester

e Point H USies™ H T2 1 4 fauehm
g7

(A) Ctl+Y
(B) Curl+Z
(C) Ctl+A

(D) Ctl+V

Set - A.
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62. Arrange the Search Engines by their year ~ 62.

of development :

(a) Bing

(b) Yahoo

(c) Ask

(d) Google

(A)  (b), (d), @) ()
B)  ®), @) () ()
©  (b) @ (). ()
(D) (b), (d), (o), ()

63. SEO standsfor . 63.

(A) Search Engine Operation
(B) Search Entry Optimization
(C) Search Engine Optimization
(D) None of these

64. A user can get files from another 64.

computer on the Internet by using :
(A) HITP

(B) TELNET
(€ UTP

(D) FIP

65. Which one of the following is not a Search 65.

Engine ?

(A) Bing

(B) Google
(C) Windows
(D) Yahoo

g a9 % SMUR W Search Engine i
SFaferd i :

(@) Bing

(b) Yahoo

(©)

SEO I Haed |

(A) Search Engine Operation
(B) Search Entry Optimization
(C) Search Engine Optimization
(

D) 3T 9 g Tl

Fee W e 5 T IoR g P 9
file TS Y Fehell T ?

(A) HTTP
(B) TELNET
(C) UTP
(D) FTP

£ & ¥ 9 9 Search Engine &l €7

(A) Bing
(B) Google
(C) Windows
(D) Yahoo

SPACE FOR ROUGH WORK / % &l & for&t <7

9102/1D-BH/RCE-M 19

Set - A



66. Which command is used to clear the 66. ThIA %! TIH HL h [T HIF T HAS ITAM
screen ? [ERISICIES '
(A) CIs (A) Heee.
(B) Clear (B) forTR
(C) Clscreen (C) HITeeh
(D) All of the above (D) Ul Wl
67. Asimple protocol used for fetchinge-mail ~ 67. Mailbox ¥ e-mail ! [ | T Terehia
from a mailbox is : fetch & foTq S9am ST &2
(A) POP 2 (A) dU2
(B) POP3 (B) dMH3
(C) 1MAP (C) sy
(D) None of the above (D) STEd H § HIE 78 _
68. DVD Technology uses an optical media 68. DVD Technology 1 3WF digital Data
to store the digital Data. DVD is an T LR HH & forq fopan ST ¥l DVD &%
acronym for : fou @ dfama 2
(A) Digital Vector Disc (A) fefoea S femm
(B) Digital Volume Disc (B) TefSea dieyn few=h
(C) Digital Versatile Disc (C) fefSear aderga fewn
(D) Digital Visualization Disc (D) fefSea fagerenssism fewn
69. Which of the following is a temporary 69. T § ¥ %1 9 temporary Y §?
output ?
(A) Hard Copy (A) € Il
(B)  Soft Copy (B) WIw &gl
(C) Duplicate Copy (C) gftetehe &bt
(D) On paper (D) TN
70. Example of Open Source Operating 70. ST G R e S SR R
System is :
(A) UNIX (A)  YiTe
(B) LINUX (B) eI
(C) WINDOWS (C) fae=
(D) Both (A) and (B) (D) (A) 3R (B) BHI
SPACE FOR ROUGH WORK / 7% T o o€l sirg
Set - A 9102/ ID-BH/RCE-M



PART - (3)
GENERAL MENTAL APTITUDE

71. Find the missing letter :

FE Y | 7 |
ol g1 |t
T | E |7
Ay O
B R
© s

(D) None of the above

72. Find the odd one out:
(A) 7493
(B) 7687
(C) 8393
(D) 6647

73. Study the following diagram which part
of the diagram represents who are player

but not coach ?

71.

72.

73.

| - (3)

[T WATEeh JTEr
feeT 318 1 1
E|l Y | ? )
ol J|L
T | E | J

.

(A) O

(B) R

<€ S

(D) T | HE T
=] ] T FA
(A) 7493

(B) 7687

(C) 8393

(D) 6647

fo=ifera TRid o1 ST Y Tl 1 i
mm@f@@r@ﬁ%qﬁmﬂﬁ%aﬁm
®7

SN PSS 4. N—
Sl / /\ ~ Uﬁ\\-—r Coach I !N U \\'-.\— »hT

fraey ) fraEy )
(») Q (Aa) Q
B S (B S
(€ Qand$S C) Q3RS
(D) SandP (D) S&RP

SPACE FOR ROUGH WORK / T® wTa o forr wE
Set - A
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78. Ina certain code ‘RIPPLE' is written as ~ 74. Feft fafyem #1e # ‘RIPPLE’ =1 6133,
613382 and ‘LIFE’ is written as ‘8192". SRLIFE ‘8192 fermanwmar ¥ | “PILLE
How is ‘PILLER’ written in that code ? %! 3H Fre W FY fodN?

(A) 318286 (A) 318286
(B) 618826 (B) 618826
(C) 318826 (C) 318826
(D) 318816 (D) 318816

75. . Find the missing term : 75. Toew ug 9 Y :
4320, 2, 144, 36, 12, 6 4320, 2, 144, 36, 12, 6
(A) 1080 (A) 1080
(B) 864 (B) 864
(C) 720 (C) 720
(D) 540 (D) 540

76. If AND=25 and 76. aff AND=25 s

COS =10 then COS=10 @
EYE=? EYE="?

(A) 30 (A) 30

(B) 33 (B) 33

(C) 35 () 35

(D) None of these (D) T8 9 *iE Tl

77. Find the odd one out : 77. Ta=1 &1 g =
(A)  Snail (A) e
(B) Turtle (B) hgaT
(C) Oyster (C) 4
(D) Spider (D) wehel

SPACE FOR ROUGH WORK / % g & fodl wiig
Set - A 9102/1D-BH/RCE-M



78. Count the number of squares in the given 78.

figure :

(A) 11
(B) 21
(C) 24
(D) 26

79. Which figure will come next in the 79.

following sequence ?

KIBIERIL |

fery T T H 1 Y A T O B

(&)
(B)
©)
(D)

11
21

24

ot o o areren fos o Eren ?

|

1) ) @) 4) @ 2 (3) 4)

(a) | (A) l‘/%
(B) (B)

isl= lEIE
©) ©)
D) [ = D) [
(D) % (

SPACE FOR ROUGH WORK / T @t o ford wrg
Set- A
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80. Choose the diagram in which the 80. ﬁﬁ@ﬁﬁﬁ@%ﬁﬂ‘fﬁﬁ@ﬁﬁmﬁ

following groups of elements fit correctly. el <l T Fal adieh ¥ faf> g & |
Citizens, Educated and Men AT, fofaa o) =afa
TR A N
\ /'
@) (\O ) O w (O) O
® (O @ » (00
N S

() @ () K@D;‘

81. Find the missing term : 81. fodw ug = Frd +Y :

3 5 4 3 19 4

4 119 2 6 140| 4 81213 4 (119 2 6 40| 4 81?13
2 5 7 2 5 7

(A) 21 (A) 21

(B) 169 (B) 169

C) 176 (C) 176

(D) 180 (D) 180

82. If/+1:/></’/_/ :/+r’/><l:///,l//:l__l 82. -q-f\-a /+I:/><I, I_I:I+/, IXI:l/I,

then answer the following questions. ‘)= — a1 frafafEad 991 &1 W )
23-3/1+15x5=7? 23-3/1+15%x5="?

(A) 22 (A) 22

By 23 (B) 23

G 24 _ C) 24

(D) 25 (D) 25

SPACE FOR ROUGH WORK / % &1 & o wnrg

Set - A 24 9102/1D-BH/RCE-M



83.

84.

Count the number of parallelograms in

the given figure :

(A) 8
B) 11
C) 12

(D) 15

Study the following diagram where
triangle represents ipersons who take tea,
circle represents persons who take coffee
and rectangle represents persons who
take soft drinks :

li() /17 15\30
N\
/ 20

(15720 )]
W

How many persons take soft drinks ?

(A) 100
(B) 92
(C) 82

122

83.

84.

freifira STHTT 1 ST B TR IS S
FTE o ¥ iR e Wi g o o
e 1 gEiiid e §

/\

oK

20 /17 mol
/zo
mﬁwﬁmwﬁwéﬁ%?
100

(B) 92

C) 82

122

SPACE FOR ROUGH WORK / T &t & ford se
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85. Anu had a total of ¥ 320 in the 85. 37] Eolice) % T 320, g ﬁreﬁ, 1 T
denominations of 1 rupee coins, 5 rupee 5 %99 % 3R 10 T & et a1 & faah
coins and 10 rupee coins. Given that the [ECRBE e 1 o faashl & dem
number of coins for all the denominations ¥ @ suF U el fohar foaes €2
is same. What is the total No. of coins
that he has ?

(A) 45 (A) 45
(B) 60 (B) 60
() 75 ) 75
(D) 90 (D) 90

86. Choose the box that is similar to the box 86. 39 fesst &l g = fed o (X) HTTSI G -
formed from the given sheet of paper (X) : Higs I T fesd & wam 872
<P boe® i VEVEVEL

Vs ! Vi
X) @ B (© (d) ) @ (b (9 (c
(A) (a) and (b) only (A) oI (a) 3R (b)
(B) (b)and (d) only (B) e (b) 3R (d)
(©)  (a) and (d) only (©) 9 (a) W (d)
(D) (b) and (c) only (D) e (b) 3R (0)
87. Find the missing term : 87. foqqw ug =l 91 & :
AYD, BVF, DRH, ?, KGL AYD, BVF, DRH, ?, KGL
(A) FMI (A) FMI
(B) GM (B) GMJ
(©) HIK (C) HLK
(D) GLJ (D) GLJ
SPACE FOR ROUGH WORK / T &l & fead smig
Set - A 9102/1D-BH/RCE-NM



88.

89.

90.

Find the next term :
1,4,6,11,21,38, _____.
(A) 68

(B) 70

< 72

(D) 76

In the following alphabet series some
alphabets are missing. Find the missing

term.

_bc_ _bb_aabc
(A) acac

(B) babc

(C) abab

(D) aacc

The six faces of a dice have been marked
with numbers 1, 2, 3, 4, 5 and 6
respectively. The three positions are given

below :

Find the number opposite ‘1" ?
(A) 3

(B) 4
© 5
(D) 6

88.

89.

90.

e UG 1 B
1,4,6,11,21,38, .
(A) 68

(B) 70

€ 72

(D) 76

Frefefea avtaen Jof § $o 3R g« g,
EGIGREERICICTY

_bc_ _bb_aabc
(A) acac
(B) babc
(C) abab
(D) aacc

TH U H 6 Wk A1, 2,3,4,5 3 6
i § wrn: o R T R U™ H
4 feafmi = A W §?

Q66

1’ % Tarufta wem 3@ 3|
(A) 3
(B) 4
© >
(D) 6

SPACE FOR ROUGH WORK / T &td & forl ste

9102/ID-BH/RCE-M

Set - A



PART - (4)

GENERAL MATHEMATICS

URT - (4)
=T T

91. Ratio of income of A, Band Cis3:4:5 91. A,BﬂﬂTC'ﬂﬁW'ﬂ@WE&A:S%
and ratio of their expenditure is 5: 6 : 7. ¥ WH AU 5:6:7 §1 AT A
1 1
If saving of A is 3 part of his income, EERRGSEN T 3ATY ohi 3 M Bxf,'?'ﬁ A
then what will be ratio of savings of A, B 91 C ] =g &l AU B ?
and C?
(A) 5:8:11 (A) 5:8:11
(B) 6:7:11 (B) 6:7:11
(© 5:7:11 Q) 5:7:11
(D) none of these (D) =0 4 +rE 7|
92. If purchasing of paddy is reduced by 50% 92. 9z 9 w0 50% FA HT oA W
and its MSP is increased by 50%, then IFHT MSP 50% = fear s, d s
what will be gain or loss percentage in feram ufcera =t gfig sveren et Bl 2
revenue ?
1
(A) loss of 105% (A) 10%%3& )
(B) gain of 15% (B) 15% ! Ifg
(C)  gain of 25% C) 25% = gfg
(D) none of these (D) T 4 *E Tl
93. How much water can be filled in 7680 93, 80 V.. oTaE Ud 3qF oneft =ierE & 1
seconds in a box made of 5 faces having TG & % & SR HJg 9% 5 9dg
area equal to the area of a rectangle of g9 o9 H foraar 9r1 9t 7680 Rve 1 ¢
length 80 cm and breadth half of it, if S Tehdl B, afc g 1 e 1 ofter O
1 litre' water can be filled in 1 minute ? 7
A = !
(Aa) 3 A 3
B L 1
® 3 (B
2 2
© 3 © 3
(D) none of these (D) T ¥ FE T
SPACE FOR ROUGH WORK / T% @18 & forl smrg
Set - A 9102/1D-BH/RCE-I



94.

95.

96.

The ratio of length, breadth and height
of a cuboid is 7 : 6 : 5. If its total surface is
21,700 cm?2, then what will be its

volume ?

(A) 21x10% cm?
B) 21x10% cm?
21 x 102 cm?®

none of these

081x0036x0.64 _
0.016x0.49x0.09

(4)
®
(©)

(D)

In a district every year, 5% children
increase and 16% old persons decrease.
If population of that district in year 2016
was 64,10,000 in which 1,60,000 were
children and remaining were old persons,
then in year 2020 the ratio of children
and old persons in that district will be :

(A) 16:1
(B) 8:7
(C) 1:16

(D) 7:8

04, T W F T, drer am $EE

95.

96.

SUE 7:6:5 ¥ AR s gl T
21,700 {72 1, N SEh! TFaA foher g ?

21 x10% |.H3
21 x 103 @13
21 x 102 9.H1.3
T A W T

0BTx0006%064 _
0.016x0.49x0.09

X 0.036
(&) 0.07
5 036
®
C 36
©) 0.007
5 %
O

ww e § ufa od 5% s=a ®l gig qen
16% I 1 % At ¥1 Afe 7 2016 H
39 st F SEEET 64,10,000 o forEd
1,60,000 I3 & qenn 99 ¢t &, 79 o
2020 B 35 e H wr=al T I H STEE
=1 STUT BN

>
[y

6:1
8:7
1:16
7

(A)
(B)
"
(

©)
)

J
o0

SPACE FOR ROUGH WORK / T% i & fodt g
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97. <1 ST A TH € YU T % <EE

97. The place value of the digit at tens place
of a two digit positive integer number is T & 31 1 WM 7F T fawd e &
10 times of an odd integer and a whole 10 71 g E‘q’ﬂﬁ M W Tk Tﬁ FENES
number which is not a positive integer is = quifer 7181 ¢ | Al 39 WA | gerE e E
at its unit place. If a number more than 3% T U Afyen ?ﬁ"{—fﬁ?ﬂ SIEH q U G
one by the digit at tens place of that is Bl
added to the number, then the number
obtained will be :
(A) even (A) HH
(B) odd (B) fawm
(C) prime (C) AWI
(D) none of these (D) TTH A & TR
98. What will be area of greatest circle drawn 98. 60 V. T qAM 42 WH. IS WA &
inside a rectangle of length 60 cm and T Wi S el WeH 98 g1 1 &6
breadth 42 cm ? foraen grm ?
(A) 1553 cm? (A) 1553 9§.#1.2
(B) 1368 cm? (B) 1368 9.#1.2
(C) 1535 cm? (C) 1535 |.#.2
(D) 1386 cm? (D) 1386 9.#1.2
99. The single discount equivalent to 10%, 99. 10%, 20% TAT 40% % FHEH THAE Fg|
20% and 40% is : 7 '
(A) 43% (AY 43%
(B) 56% (B) 56%
(C) 56.8% (C) 56.8%
(D) 43.2% (D) 43.2%
SPACE FOR ROUGH WORK / TF &1 & ol STg
Set - A 9102/1D-BH/RCE-M



100.

101.

102.

The LCM of two numbers greater than
23 is 1771 and HCF is 23. Then sum of
these numbers is :

(A) 161
(By 253
(C) 414

(D) none of these

0.17373737.....

1377

(A Too

o 86
(B) 495

1737
9900

none of these

(D)

Three parties A, B and C received votes
in the ratio 3 : 4 : 5. Only 60% of total
voters 3,60,000 casted votes. Then
average of votes obtained by the three

parties is :

(A)
(B) 72,000

54,000

(C) 90,000

(D)

none of these

100.

101.

102.

23 ¥ =l < GEnsl &1 THIH GHId®
1771 99N HEdH HHYEdS 23 B 99 3
Tl H AN

(A) 161
(B) 253
(C) 414

(D) &TH 8 &l

0.17373737.....=

1377

(A Too

g 5
(B) 495

1737
9900

T W g e

Tl A, BAMCHI 3:4:5 % U@ H
Td 9T Bid € | el HaeKd 3,60,000 9 e
Fael 60% = wagH AT q@ A Sell Wl
Wﬂ?ﬁwaﬁﬂﬁ%

(A) 54,000

(B) 72,000

{C) 90,000

(D) & @ K T

SPACE FOR ROUGH WORK / T% @Td o ford g
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103.

104.

105.

Mohan took a loan of ¥ 14,000 at the rate
of annual simple interest and he returns
in 8 months in 8 instalments of ¥ 2000
monthly. What is the annual rate of
simple interest ?

(A) 7%

(B) 7%
(C) 6%

1,
(D) 654

In the given figure, AB||CD, then
£ZGOH + £DHO =?

E
A G/65° B
15°
30° O
C H D
/

(A) 80°
(B) 85°
(C) 100°

(D) none of these

A sphere of maximum volume is cut from
a solid hemisphere of semidiameter 5 cm.
The ratio of volume of hemisphere and

volume of sphere is :

(A) 1:4
B 4:1
(C) 8:1
(D) 1:8

Cfed ma fam o+,

103. Hg T 14,000 Sfer TIERU =TS &1 &R 7

S0 S & e € 2000 kR 5 8 T |
8 TTE T onfud wea §1  WIERT S 6
aiftfer e MR ?

(A) 7%
(B) 7%%
(C) 6%

1
6—%
(D) 63

AB||ICD, dd
Z/GOH+ £«DHO =7
E
/ O
A GA65° B

15°
302 O
C Hy D
/

/
/F

(A) 80°

(B) 85°

(C) 100°

(D) T | HIE e

5 Q. rde™ T T 9 ITEi W ¥

Ifusay ST aTell Weh Tiel el T © |

STETIS! & ST T T o ST Sl ST
R

(A) 1:4

(B)y 4:1

€y 8:1

(D) 1:8
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106. In which of the following shapes, 106. fr=fafea # 9 e etrpfa # ol @aa s

diagonals are always equal : BAE

(A) Rectangle (A) &ATFd

(B) Rhombus (By THEgYs

(C) Parallelogram (C) wEuRR Bk
(D) Trapezium (D) HHTH EGkl

107. Inthe given figure, AB||CD, then ZIOL=?  107. & & f== i, AB||CD, a8 ZIOL=?

A NK 1.60° B A NK_ 160° B
\.\.\_\ / >
C ] /" \L D cC 1/ NL D
;\"{}_—o—_— - 7 O
4 40
F NH F ./ \H
(A) 100° (A) 100°
(B) 80° (B) 80°
(©) 120° (C) 120°
(D) none of these (D) T & FE Tl

108. In the following triangle, ZABC=90°and ~ 108. 7= 1351 H, ZABC =90° @21 BDLAC, a9

BD.LAC, then which of the following et & 9 SF O FUF TA E?
statements is true ?
A A

[ I
- R

=
R P

|
|
B C B C

N 7 AN
(A) AB-BC=AC? (A) AB-BC=AC?
(B) AB-BC=BD? (B) AB-BC=BD?
(C) AD-CD=BD? (C) AD-CD=BD?
(D) CD-AD=AC? (D) CD-AD=AC?

SPACE FOR ROUGH WORK / % &t o fora sig
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109. If in a rectangle length is increased by ~ 109. fe forelt et i R | 20% 6 IS
20% and breadth is decreased by 20%, ?ﬁ@g B 20% ! HHT F T M, AT
then what will be change in its area ? St § feme wfterd g ?

(A) increase by 4% (A) 4% ! gfG
(B) decrease by 4% (B) 4% i E i)
(C) increase by 1% (C) 1% ! gig
(D) decrease by 1% (D) 1% W1 &4l
110. An aeroplane travels 3280 km in 8 hours. 110, T JIAA 8 T ¥ 3080 forell, &1
2 3
If the average speed of a train is g times FEE | IS T TS i ST =1 9
2
of the average speed of the aeroplane, % 3T =Tel % B T &, @ et 2
then how much distance will the train 30 foqe o fea g’} a0 ?
travel in 2 hours 30 minutes ?
(A) 410 km (A) 410 el
(B) 510 km (B) 510 fere.
(C) 164 km (C) 164 Tl
(D) none of these (D) T A 8 R
SPACE FOR ROUGH WORK / T& @t & fordt g
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PART - (5) |

GENERAL HINDI/ 9T - (5) €THI
et -

111.

112,

113.

114.

115.

frefafeaa & @ &iF-91 3r5¢ 'qdq1’ &1
IR vreg T €2

(A) T

®) T

© g

(D) ufam

‘T | FiEET’ HErE o7 §
(A) WIERR B

(B) @I AR W@

dAfthsk &I

= o el T % w9 fra o @ ufafia
AE?

(A) =R

B) @

(© =

(D) T

‘Hereq' forg ity o1 SO § 2
)y oS Efy
=R ufy
famt afty

Iyfe H g T

>

B
C

AA,_\,\
—— N

i16.

117.

118.

119.

120.

gt S W R 2
(A) TN §F

(B) dfca® 55
(C) 9RR &%
(D) Sude # g Tl

TR 9% =i &, fweh S=aru ¥

(A) & gE-famr | @ frea ardl §)

(B) ®al ey fa W Hu-faer & feva
ST 2

(C) e Tg fa § qE-foer ¥ Fera St
gl

(D) a1 wemm g 9 qu-faat 4@ feee
STt B

frefafea o atefar € -
(Ay 3,9, ¥
(B) 9,84
(A A
(D) 4,9, %

‘o TR < 1 T8 TR I T SeTeTl €2
(A) v vfasg
(B) @y sfesy
(C) v FdHH
(D) =T A

“reresiter’ ford UTE ST 3T § 7
(A) STHHIE

(B) acged

© f51

(D) S H g T

SPACE FOR ROUGH WORK / T% hTd % fordl sg
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121.

122,

123.

124.

‘A’ v W TR YR o o7 B ?
(A) =t g
(B) EHE Gl
(C) T Haiell
(D) ¥ Hadt

‘qoren ! foRg TSl T IS § 2
(A) HEFT
B) &=

(C) udew
(D) S adl

frafafaa § @ wF @ g gfawmo =

IR ?

(A) TR TESHT ST T |

(B) o% Arent & |

(C) STET <91 o A |

(D) ¥R d9 fargd o g §

126.

127.

128.

129.

ﬁmﬁ@gﬁwﬁwﬁ%:
(A)
(B) <«
(© =
(D) HiftreR

AN T

(A) TR F TG 3TH ATl SHSH
(B) I % AIS A el S
C) BN % oG M Gl &S
(D) U1 % o1 3 a1l A

~—~

“oEl T ST e T A’ wered
R

(A) ﬁaﬂxmwﬁgaﬁw

(B) Tere % Tont =feq 1 T TE
(C) Faa =T’ YS=iA

(D) 71 % foreg A B

P G G —
TR B ?
(A) Gg-wi-ehe

125. Hifgeh T T : 130. ‘ST’ g acges HY 61 SR
(A) & T (A) Tee qoqEN
(B) ¥, W % (B) STfieRTor aeqed
€ 30T (C) X0 AR
Oy 3 d (D) TR g
SPACE FOR ROUGH WORK / T% &t o foil se
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PART - (6)

GENERAL ENGLISH/

T - (6) WTH 3IUSH

131. Which of the following nouns does not

132.

133.

change between its singular and usual

plural form ?

(4)
(B)
(©)
(D)

mouse
goose
fish

oX

Find out the sentence in which the use of

correlative conjunction is not acceptable.

(A)

(B)

©)

(D)

He attended not only school but

also college.

He not only attended school but

also college.

He not only attended school but

also went to college.

None of the above.

Identify the correctly spelt word.

quarreled
quarrelled
quarelled

quarralled

134.

135.

136.

Manchester United beat Liverpool at Old
Trafford.

(A)

(B)

Liverpool is beaten by Manchester
United at Old Trafford.

Liverpool were beaten by
Manchester United at Old Trafford.

Old Trafford was beaten by

Manchester at Liverpool.

Liverpool has been beaten by
Manchester at Old Trafford.

Out of the four alternatives given, choose

the one which can be substituted for

‘imagined place or state in which

everything is unpleasant or bad, typically

a totalitarian or

environmentally

degraded one’.

(A)
(B)
(©
(D)

dystopia
utopia
amnesia

dementia

I have something else for you.

What part of speech is the underlined

word in the above sentence ?

(A)
(B)
©
(D)

Adverb
Adjective
Conjunction

Noun

SPACE FOR ROUGH WORK / I% @hTd & foil Sig
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137. Isshe on the sofa ? 141. _____ man does not live by bread
Choose the correct alternative to alone.
complete the above sentence. Choose any one from the following to
(A) laying complete the above sentence.
(B) lying (A) An
(€) lain (B) A
(D) laid (C) The
(D) None of the above
138. Why was such a Iette; written by your 145 We had an argument the
BEGIReR € supermarket.
(A) Why your brother wrote such a Select an appropriate preposition from the
letter ? following to complete the above sentence.
(B) Why does your brother write such (A) into
G S (B) through
(C) Why did your brother write such a (C) across
letter ? .
- (D) in
(D) Why had your brother written such
a letter ? 143. Insert an appropriate pronoun to
complete the following sentence :
139. The country’s economy is now in After a few minutes the jury gave
serious danger - _ verdict.
Select a word from the following that can (A)  his
be substituted for the underlined words (B)  her
in the above sentence. (C) its
(A) vigil (D) our
(B) anomaly 144. Choose the incorrect sentence.
(C) peril (A) ‘What have you found ?" asked her
(D) difficulty companion.
(B) ‘Today,” he said, ‘is not an
140. Nouns that refer to sexless objects are of : auspicious day’.
(A) the masculine gender (C) ‘Today’, he said, ‘is not an
(B) the feminine gender auspicious day’.
(C) the common gender (D) She was jumping for joy and
(D) the neuter gender shouting ‘come here!’
SPACE FOR ROUGH WORK / 1% &1 & fet& stiig
Set - A 9102/1ID-BH/RCE-M



145.

146.

147.

He said, ‘I must go next week’.

Choose the sentence from the following
that best expresses the above sentence in

indirect speech.

(A) He said that he had to go next
week.

(B) He said that he would have to go
the following week.

(C) He said that he would have to go
the next week.

(D) He said that he should go the

following week.

Which of the following words most nearly

means ?
DISCRETE

(A) leave

(B) diminish
(C) squandor
(D) distinct

In which of the following sentences ‘that’

is used as a conjunction ?

(A) What is that noise ?

(B) I have done that much only.

(C) The evil that men do lives after
them.

(D) He lives so that he may eat.

148.

149.

150.

Choose the correct sentence.

(A) An agreement was reached among
the parties.

(B) An agreement was reached
between the parties.

(C) An agreement was reached in the
parties.

(D) An agreement was reached over

the parties.

Sri Aurobindo Ghosh demonstrated to the
world that real India, the India of the
could survive and

absorb into herself all alien cultures.

Select a proper word from the following

to fill up the blank and complete the

above sentence.

(A) seers
(B) sears
(C) seres
(D) ceres

Choose the word which is most nearly
opposite in meaning to the word
‘PROFUSION’.

(A) Deficiency

(B) Certainity

(C) Protruberating

(D) Maximum
-o00o-
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Time for marking answers : 3 Hours } { Maximum Marks : 150
e
1. 39 yeA-giae # T am g
qT - (1) (1) HER IR 1-40
(2) TS I HHA A »
T - (2)  HEHS I FHA SRR 41-70
Ul - (3) T WA 71-90
W~ (4) W e 4 91-110
o - (5) e R 111-130
q - (6) T Sl 131-150

ek U9 1 375 1 g1 @t 150 weR st €
2. U % e, & T OMR SW-¥iie (STHR-3Me) W Afehd hifew |
3. Tetd ST ATeRA hTd TR 1/4 ek e S|
4. w8 o W F Fogae T A Tae U6 WA Wi 6 g1 afsid ¥
5

OMR STR-3 (TTR-9e) 1 TANT o T T I e =1 /o, Fored e e < =1
3 Arg = faeree enfe v Wi Sk heraed 9 @vd 8 S |

Note :
1.  This Question Booklet contains Parts namely :
Part - (1) (1) General Studies 1-40
(2)  General Knowledge of State
Part - (2) General Knowledge of Computer 41-70
Part - (3) General Mental Aptitude 71-90
Part - (4) General Mathematics 91-110
Part - (5) General Hindi 111-130
Part - (6) General English 131-150

Each question carries 1 mark. All 150 questions are compulsory.

2. Indicate your answers on the OMR Answer-Sheet provided.

3. 1/4 mark will be deducted for each wrong Answer.

4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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